
Activity 1 C I 
I 

The paragraph on the apple plan~ like al n1osl any piec~ of effective \vriting,, has two essential parts: ( l) 
a point is advanced. and (2) th~t point is then supported. ,Tit~/»~ ~ ,~inutc to outline the p'.'1"3graph will 
help you understand these basic parts clearl'-'. Add tile '\\'O(ds needed to co1nplete the outhnc . 
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Point: Working in an apple plant is the 'wbtisthiSb1l 1~ver tnadl I 
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Re.ason l: The work was physically very hard ' t· 
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a. Loaded cartons onto skids for t~n ~ol r~11a,1119~~jl, { ~1r _, -
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Each carton contained 25 poundt ~~1ho_1,~•d.ap~,eJ~i~ i l 
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Reason 2: The pay wasn't enough · 1 illll 11r 1
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a. he was paid minimum wage .t ~3.~5
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b. Had to work sixty hours for decent takq-,~p1pc ~ry1 
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Reason J : Working conditions weren't good 1
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a. Two ten-minute breaks and an unpaid 'luncijlll 11l[I 11 ,lljl I 11
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weather we& cofd at near zero tempe,raturei, 1, 111: 1
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c . Lo neliness on job I I I Ii 

( 1) N . ' . l 11,,, 'I 1' l • I 
o interests m _cmnmon ,vu 1 otm~r wor-"crs 1 
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(2) By myself for t\vo hours cleaning ,the apple vats 
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